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Abstract

The extraction, processing, transformation, and delivering of energy all need
energy itself as an input. However, the technology for producing renewable energy
seldom passes the energy analysis and is still in its infancy. If the government regards
promoting the total output of renewable energy as a policy goal at this moment, it may
induce inefficient technology to be used and may accelerate the exhaustion of natural
resources and the degradation of environment.

This study found that subsidy for encouraging renewable energy production
based on gross output fails to solve the problem of market failure. It will lead to a
waste of energy, and then cause the policy goal to be inconsistent with social
optimality. This study explicitly solved the problem with a net output model. The
contribution of this study is to prove that policy goal for renewable energy production
should base itself on net output instead of on gross output. The best policy for solving

market failure is to let energy price reflect its social cost.
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